Self-Assessment test-1
Class V Sub:Maths Time: 45min

DFill in the blanks:- (5)
a) The successor of 49,90,909 is
b) 4,00,00,000 + 3,00,000+ 20 + 9

in compact form is
c) The result of addition is called
d) The number formed by rounding off

275 to the nearest tens is
e) The numbers to be added are called

2) Choose the correct answer:- (3)
a) Twenty seven crore five lakh two



thousand fifteen in figure is .
)27,50,02,015 ii) 27,05,02,15
iii) 27,05,02,015
b) The smallest 8-digit number using

different digits is :
)10,23,45,678 ii)1,02,34,567

ii)0,12,34,567
c) The successor of the greatest 7-digit
number is .
1)1,00,00,000. ii1)99,99,999
iii)10,00,000
3) Put the correct sign:- (> or <) (2)
a) 39,45,634 39,54,634

b) 1,65,43,225 1,65,43,215




4) Write the number name:- (3)
a) 7,53,42,005 b) 13,757,098

5) Arrange in columns and add:- (4)
a) 8,45,37,084 ; 39,64,856 and
13,23,76,548
b) greatest 6-digit number ; smallest
4-digit number and greatest 3-digit
number.

6) Solve the problem:- (3)
In a jungle there are 7,38,486 elephants
4,85,573 zebras and 5,84,937 deer. Find
the total number of animals in the jungle.



